
Giving that mean=34, median= 32 and standard deviation as 12. Calculate the Pearson's 

coefficient of skewness. a. 0.1 b. 0.4 c. 0.5 d. 1.6 

Solution 

Skewness is a measure of the asymmetry of the probability distribution. Skewness value can be 

positive or negative. 

Pearson coefficient of skewness is based on arithmetic mean, mode, median and standard 

deviation. 

Pearson's median or second skewness coefficient: 

𝑆 =
3(𝑚𝑒𝑎𝑛 − 𝑚𝑒𝑑𝑖𝑎𝑛)

𝑠𝑡𝑎𝑛𝑑𝑎𝑟𝑑 𝑑𝑒𝑣𝑖𝑎𝑡𝑖𝑜𝑛
. 

So in our case 

𝑆 =
3 ∗ (34 − 32)

12
=

6

12
= 0.5. 

Answer: c. 0.5. 
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